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<Background>

"Puzzle plc has a call option over 50% of Enigma AG which is currently exercisable. The call
option is for a nominal amount (C100). Puzzlé plc also have a second call option over a furt
her 20% which is not currently exercisable and which has an exercise price based on EBITD
A for the three years prior to the date of exercise.

*Puzzle plc have a management agreement with Enigma AG under which they charge an ar
ms length fee for management services they providé- access to their sPeuallst tax, Tegal an

design departments. This agreement does not give any rights other than the right to char
ge a management fee for providing these services.

*Puzzle plc can appoint 2 of the 4 members of the Enigma board and it is the board who d
etermine the operating and financial $0I|C|es of the company. All board members have equ
al voting rights and all' decisions must b

e supported by at least 3 members.

*Puzzle also _have loaned a significant amount of money to Enigma AG. As part of the loan
agreement Puzzle plc have the right to veto any decision madé by Enigma to apply for furt
her financing from other external sources.

<Issue> Does Puzzle plc control Enigma AG?

<Solution>

No- the 50% call option that is currently exercisable for a nominal amount is applicable to t
ake into_account but it does not give control. The second call option is not applicable for th,
e anal¥5|s of control as it is nat clrrently exercisable. The management agreement is an arm
s length agreement on normal commercial terms for services provided and does not give P

uzzle plc any further rights. While Puzzle can appoint half the members of the Board they d

o not have the right to aﬁpomt the majority of the board nor do they have the right to Cast
the majority of vOtes at the board meetings.

The rights associated with the debt are protective, (i.e. Puzzle can ensure that any no further
loans are taken out by Enigma if they believe this would affect the company s ability to rep
ay their loan to Puzzlé). This right is not participative (llj.e. giving rights over’the financial and
operating policies of Enigma) and therefore it cannot be used To infer control.
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Issue

Entity B owns 80% of a subsidiary. Entity B disposes of 50% of the subsidiary for C300
million and loses control of the subsidiary. Entity B will deconsolidate the subsidiary and
account for the remaining 30% interest as an associate using the equity method. At the
disposal date, the fair value of the retained non-controlling investment is determined to
be C180 million. The carrying value of the identifiable net assets is C440 million and
there is no goodwill. The carrying value of the 20% non-controlling interests held by
third parties prior to the transaction is C88 million. There is C4 million credit in the
available-for-sale reserve and C10m credit in the revaluation reserve relating to the
subsidiary. The tax consequences of the gain have been ignored.

How shall entity B account for above the the transaction ?
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Solution
Cm Cm
Dr Cr

Dr Cash 300
Dr Investment in associate 180
Dr Available-for-sale reserve 4
Dr Revaluation reserve 10
Dr Non-controlling interest 88

Cr Net assets 440

Cr Retained earnings 10

Cr Gain on investment 132

*The gain or loss on the interest sold and the retained non-controlling investment is recognised in the income
statement is calculated as follows:

Cm
Fair value of the consideration 300
Fair value of retained non-controlling investment 180
Carrying value of the non-controlling interest 88

568
Less: Carrying value of former subsidiary’s net assets (440)
Available-for-sale reserve transferred to income 4

Gain on interest sold and retained non-controlling investment 132
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